



Optel somme



$$\text{ant} + \text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} + \text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} + \text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} = \underline{\hspace{2cm}}$$

$$\text{ant} + \text{ant} + \text{ant} = \underline{\hspace{2cm}}$$